
Find	the	type	of	equation	and	its	slope.	y	=
4x	5

Find	the	following	equation	in	slope-
intercept	form.	6x	2y	=	12

Find	the	type	of	equation	and	its	slope.	y	=
-3x	-1

Find	the	equation	of	a	line	whose	slope	is
one-half	and	y-intercept	2.

Find	an	equation	in	standard	form	that
contains	the	slope	of	(1,	0)	and	(-5,	-2).

Find	the	number	of	the	quadrant	that
contains	the	point	(4,-3).

Find	the	type	of	equation	and	its	slope.	2x
%u2013	4y	=	12

Find	point-slope	form.

Find	an	equation	in	point-slope	form	that
contains	the	slope	of	(-5,	0)	and	(-3,	4).

Find	an	equation	in	slope	intercept	form
that	has	the	slope	of	2/3.


